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—¢A 60,0002 x1E 118 7,080
—gagy 60,0003 x1H 2 120
OgaA 2L (HIZ, X2 )
200,000& ~12& 2,400
02 524t 55,920 55,920 0
OUZEANE SRS 2,500,000 x12& 30,000
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M ord M4 7E
CHelr MEOIN €9 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUIEANE HIRS 160,000& 12 1,920
OUIEANE RAE=> 2,000,000& x12& 24,000
OFMSH HEaHel ZHEAY 40,000 50,000 A 10,000
= 12,000
[ia 28,000
401 AIEHI L 201 40,000 50,000 210,000
= 12,000
s 28,000
01 A& tl 40,000 50,000 A 10,000
Ootdsh gt2Hel =4 CCTV & Xl 40,000
< 12,000
i 28,000
Moot S A &)l 2¢ 9,090 11,300 A2,210
= 2,727
e 6,363
405 RHoHF S HI 9,090 11,300 A2,210
= 2,727
s 6,363
01 AL EZFH S 9,090 11,300 22,210
OMLAESAY ©2LI| 7
1,010, 000& »9CH 9,090
= 2,727
i 6,363
HE2HZH (LA TH D) 25,816 26,880 A 1,064
Jl= &l 25,816 26,880 A 1,064
Jl=dl 25,816 26,880 A 1,064
201 Let24d] 17,760 17,760 0
01 At 22l 17,760 17,760 0
OdER=EE 2,640
-2 15,000 x45+12& 720
EPNR= N 10,000& x165+12& 1,920
O=AERX 2 23,0003 x10 A %128 2,760
OSAD Xtz 660,000& »12& 7,920
OANRa 225 7¥ 200,000& »12& 2,400
OMEALE2SD| M= 6,000&~20=5+128 1,440
O3JI&8FI gxtz 50,000& 10 =122 600
202 044l 2,856 4,320 N 1,464
01 = LH o4 1l 2,856 4,320 A1,464
ORAN2Y =UHHEl 20,0003 *17H=12& 0.7 2,856
203 ¥ S =&l 3,600 4,800 A 1,200
04 FXNSEHE=LH| 3,600 4,800 A 1,200
ORN2IYS =2 300,000& »12& 3,600
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